INTERMEDIATE ALGEBRA EXaM 3 U NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE REQUIRED ON THIS TEST.

In 1-8, simplify completely:

1a) vﬁ];g?};§ 2a) vﬁf? 3a) v@i;;?g;g

3 ) 3 4
b) 57 5 27 b) 75 b) /8OX6yll

In 4-6, a) simplify the radicals and
b) find the decimal approximation (nearest hundredth)

4., 3 3 5. y54 *418 6. 2
6 754 10 g (643 + 3/6)
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b)
In 7 - 9, rationalize the denominators and simplify:
10
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10. Simplify:
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In 11 - 14, solve for x, and give interval notation if appropriate:

11. |2x - 6] < 4 12a) |2x - 6] < -4

b) |2x + 8] > -4

13.  [3x - 2| > 7 14. lx"3
3

In 15 - 20, solve for x, check if necessary:

15. x> - 5x = 6 16. x% + Bx + 2 =

0



17. (x - )2 = 20 18. 5x° - 4x + 1 =0
19. 2x (2 - x) =3 20. € - x=x -4
21. Find x: 22. Find the length of a rectangle

whose diagonal is 73 feet and
whose width is 48 feet

; I
6

23. An isosceles triangle is of height 18 m. with base 24 m. Find

the 1length of the equal sides. (Nearest hundredth, if
necessary!)



INTER Ale Exam U Sikhitoms
; : 4
/a) V/éxdy?:@ 2a) 72 =[xz Ta) JIExS 4) VEoxey

Dl G D Ty e I =
&) 7z = 7 75 - W
da ¢Vrs-4 Vo D

- /76

4
3 - Vs + Vig G (W+ 3vé)(2\r*”3‘-}32 Vg (3;[} 2)
=24 Y3525 9 - 3. 3 lz?f +(§f§ +3-¢ (f\/“+4)(
=24 \3/'5'3‘\?/"' - B _r-g/é/——\/ IVE — 4V&
= /08 + 36Vig + S4 T .72
=245z = L2 + 36VFVZ et g
(20 G = (g2 + 36-30= A
4Q18.05 = &2 + o8VZ) = {280
- Ge.7D _ s
- 'ZQQ@: @m c-4V2
v 9 100) 16" 6 {4 y 2G22)
AN O RE(R) A e ()
o P =) =G
= c O
<4 - y TREMES
. l2x—é' / lfx-—l[é7
B@fweﬁn/rtw/ (2a) lz"‘é\é_-‘?— , :1/ /s 5=7 FX-2=-
2x-6=4% fofé’é:::l: £) t&(“é,?""{ /4///?84[?, ENI3E 5X+a e ,____ﬁ__‘fl +2
2’5(4;; /‘—#oé 2X = 2- k o0 oD 3)(-"—67 3K m—G
X=S_ X=|

=3 x:-S/j
| —oD ‘57 UD/OO .
Exﬁgﬂgs 2 ( } 3_]

5. XE=SK=6
4. 22255 xisx~6=0 /6. x%sx+2=0 (7.9~

- Y — x,,t.D:O o=t L= c=2 X-7=+ Voo
[S=EE S ; -5 K=¢ X=—1 K= —4—’t\/ 2qac  X-7= 2/
3 =

+7 +7
x-3=(s X335 - s ) e T 1S
X=18 =2

m 19, 2)((2-)();3

V]
, g
AX—2X"= 3 2©- (/é’:—yj X~4)7" 2t e 2, 402 53>
I8, sxZ4x+1=0O 0=2xL94x+3 & >7<< X~ 971“% ¢4 )(Z’/o2 7§+48 '_7 ¢
ses &= 4 < az2 £=-4 c=3 9*0 IR TS e ot =3
x= 42 Jle-4510 41 \[7¢ -#()(3)

= 3025
2 (DC2) xzga X0
=124 3 . dE2e 4+\/’i(‘2) 2@ s (G
= a2 VE
/ —_r

Z—, . 2
: RN 2HHE =X
). Tos AR (2 Z3’z44+324:><2
per s 4£200F N =
/@/ * | .,\A/,gf




